0%

<Toir—h&#H>

URICEAT BT T —MER

D11H9B (£) B#MIMFEDY (L& KHtt)
@11A823H(1), 11H248(H) BEOER vy Ts—m=it
@11H308 (L), 12818(H) BMKEITZAT/3L GREB/ LR TSH)

@128218 (L) T RILEHBARUEGEDER oy T4—=RAL)
Bl1 7o —rEEEOFER- 15

m19FLT
m 201t
m 30&ME
m 40t
m 5085
m 60

m70FLLE

FH£ Bt ZH &t =

19 LT 2 2 4 1%
20K 3 3 6 2%
30t 13 11 24 8%
401X 9 13 22 7%
50% 20 39 59 20%
60t 23 59 82 28%
70 Ll E 40 59 99 33%
&5t 110 186 296 100%

B2 JRESHERZH->TULAHNEIM

mH-oTW3

EREIE AN 2&
HMoTLVB 33 11%
57z 263 89%

&&t 296 100%

pallEsis



I3 JOEDCERDERIXESH 4 JRESHAF—OKITESH
( 128218 (1) HLF R ILEBIARUFGEDR HyF—adt) )

mBLLMoT=
m BLLMoT=
mEBLLEENEALY
mEBLEENZALY
nEIT Motz
B ETHhof=
[ A 2E [ A 2E
Bt 214 72% BLLA-T= 33 62%
EB5ELVRAL 79 27% EBBEENZAL 19 36%
=9 Hh ot 3 1% EX N ey 1 2%
HaE 296 100% 5 53 100%
f5 2BEOI/OEDEDIL, ELLM8FAN 6 2BEOI/OEDERDIL, ELLMNIFHAN
HOESHE Xk BEFILURE( 118230 (1), 248(A) BEOR vF—md ) IJOEDE XIE, MNATLURE( 11A9B (1) EERMt )

mOE> nV0OED
m25JLUR a MYATLUR
[EE A# 2NE [EET AB 2E
VISES; 69 73% UISED) 29 59%
ETJILUR 26 27% PYATLUE 20 41%
&t 95 100% &5t 49 100%




R37

JAEDRDEAZTHRETHM

BAGE| AH =

(LY 145 49%
ELBEENRELY 126 43%
L\WVZ 25 8%
& 296 100%

m (XL

B ELELELNAE

m ULvZ

B8 JIOESHAF—DBAEZFETSH

BAGLE| A &

[EL 24 45%
Y 29 55%
o 53 100%

m (EL

mL\WZ



